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Unit One: Linear Inequalities
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3. Given the following constraints, graph each:
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A
4, In order 10 ensure optimal health for your puppy
o lab technicien recommends 1o feed the pup a daily diet containing a minimum of 24 grems (g) of fat.
36 g of carbohydrates, and 4 g of protien
The pup should be fed no more than five ounces of food a doy.
Rather than order food that is custem-blended, it is cheaper to order Food A and Food B, end blend them
for an optimal mix
Food X contains 6 g of far, 12 g of corbohydrates, and 2 g of protein per ounce, ond costs $0.20 per cunce.
Food Y contains 12 g of for, 12 g of carbohydrates, and 1 g of protein per ounce, at g cost of $0.30 per ounce.
What is the optimal blend?

Conslraints
st Gr+12yz24
carbs: 12¢ = 12y > 36

peotein: 2y = |y > 4
the maximum wesght of the
food is five cunces, so: Y~V <35

he ELS
Optimization f%ﬁj 1.2

oplimizabion equabion will be tha
cost relaton C = 0.2x = 0.3y,
and wo need tha minmum value 42

> (5,0 ||=1.0

2 of Food X
1 of Food Y
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Conslraints

the maximum weigh ‘ol e
food is five ounces, so: Xy <3
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5. For every bouquet that is sold at a fundraising banquet, $5 goes to charity. For every ticket thot

to charity. The organizers’ goal is to raise ot least $8000. The organizers need to kno

tickets must be sold to meet their goal.

a) Define the variables and write o linear inequality to represent the situation

b) Graph the linear inequality , The first coordinate is the number of
bouquets and the second is the number of tickets

Y= ¢ bou::LLuJ' /5\ i
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is sold, $18 goes

w how many bouquets and




Exam Review Solutions.notebook

0 X # pughdchorl quans
»3: *WMW
21y =i
2?23

/ 2 = # _het degdd
Y= ¥ ham mw_ﬁmﬁ/
x4 Y =300
7 £ 450
Y =125
Op'hmtjd.'hbr’] 3X+%y

January 15, 2018



Exam Review Solutions.notebook January 15, 2018

: e f () A Yy L/b()\
ey / 4 Q)\Zﬂ“"\'[ﬁ/
\j 42 9\\ g
En { ()> lj; a\k}
~2 0
Y=
| .ﬁ'zb)cl 30

@0)0) ‘\7D(Q~D)7"§O)(O) :/g}i):z li 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30752 E




Exam Review Solutions.notebook

January 15, 2018

=

»|
22(

Il Il Il Il Il
2000 4000 6000 8000 10000 12000 14000 16000 18000

A Nnnd.
[ )L non |
/ J

(‘{000\70007 = bloob
550000

5 oU =
omisw) -

(15000 W00~ 6@ b))



Exam Review Solutions.notebook January 15, 2018

Unit 2: Quadratics
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2. Fill in the following: Show your work on o seperate sheet when you change to stondard form
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Trigonometry
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11. Determine the measure of the obiuse angle at A

intriangle PAL
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12.
100m

tan 34° = 100
y

y =100
tan 34°
y=148.3m

148.3m - 67.5m = 80.8m

20



Exam Review Solutions.notebook January 15, 2018

Unit Four: Geometry

I8 Determine the measure of all unknown angles

H Detemine ZDCE and ZCAB? 3. Determine the correct measures of the interior angles of
D
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ol'??' ok B
[o1® 157°
5 L]
C

'q a. Determine the sum of the measures of the interior angles of this polygon,
* b. Are cach angle the same measure

(@) 180(82) = o W0’

(6INO, Siloone nﬁw

5 - Each interior angle of a regular convex polygon measures 144°.  How many sides does the polygon have?
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9.- Determine the value of x. 1 O'J. Determine the value of x.
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1 1 - Determine the sum of the measures of the angles in a 13-sided convex polygon.
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15. Given Z:==115°.
Determine the measures of y.
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Unit 5: Financial

1. Patrick purchased a $15000 GIC for 12 years with a simple interest rate of 3.7%. What is his 6IC
worth in 12 years?

2. Wendy sold her acre of land by the river for $35 000, she plans to invest the money for 20 years.
Her options are:
- Option A: 20-year bond at 4..5%, compounded semi-annually.

- Option B: 10-year 6IC at 3.1%, compounded semi-annually: reinvest funds in a 10-year GIC at 5.1%,
compounded quarterly.
a. Determine the future value of each investment

b. Determine the rate of return (round to the nearest tenth of a percent) for each investment

opl.B

pphin -

p&/» nt first 0yrs 82
ﬂ:p(”%) 20(2)

f- 35000(140%?’) 20
000 1425 ) 4| 7 Bseoe( 1+003")

@
049 4960654
32000( 1455 ) it 0y A 4/760(0.5(l+0if@>0
. RSN - L/%olﬁ"(/f”%’)y

$7969.5¢
- Indorest earned
b) ROk M@W

f CyfodnSS
WA = SoYALLL ket optb <

35000 iy S a0

a. How much should your parents have invested when you were born if interest rates were 7.3% compounded
monthly if they wished to have 430000 for your 18" birthday for school.

Vi

3

b. Approximately how long would it take for a sum of money to double if it is invested at 9.5%

3}
00l ) Gy
G2 ‘

= JH6ORL5S

Sylvia opened this portfolio when she turned 25.

4.

* Monthly deposits of $275 into an account averaging 5.8%, compounded daily
+ A $10 000 bond earning 8.3%, compounded monthly

What will be the value of the portfolio when she turns 552 Show your work.

, $265906.77
$119583.31
$385490.08
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5.

Barney Rubble regularly deposits $430 per month into a Registered Retirement Savings Plan (RRSP)

for his retirement. How much money will he have when he retires in 23 years, knowing that
the interest rate is 5.1% compounded semi-annually?

TI-84 Plus
k9 TEXAS INSTRUMENTS

$223356.33

6.  Cynthia wants to purchase a used car 12300 plus HST of "

‘5 an of 5.¢
§ 12300 + oy 13199

49 pasg )

7.  The Wilsons are buying a house that costs $260 000. They will finance the purchase with a 25 year

mortgage with an interest rate of 3.75%, compounded semi-annually. They must make a down
payment of $75000.

a) How much wrll each paymen b&:) s Wt

:)) I:‘:M‘:/ :\1u laﬁv/ altogether
5008 %

he loan? Show your work.

ot
4. 2%

(0 Gys a3 % s i i ohef shy

””Mj@w( (T B4l - 85000
-¥qq4,q v

C) 9ubo00 s %5000+ 75000 + 79461
( qquq mur{jar)e &\’;’M\Nk \V\\Uw—‘

W 559469 Ry

/
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8. option A option B
TI-84 Plus
3 TExAs INSTRUMENTS ] ‘ 3 TEXAS INSTRUMENTS

e e s $EE &S
payment $746.81 quarterly  payment $248.39 monthly
for 9 years for 9 years

$746.81x4x9 = $26885.16  $248.39x12x9 = $26933.04

\cheaper

[/ payments

/ months

a. 7x$434.30 = $3040.10
b. $40.10 interest

TI-84 Plus
9 . Q TeXAS INSTRUMENTS
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